
qm=;= cfof]hgf sfo{qmdx?sf] gfd cg'dflgt nfut Joxf]g]{ >f]t uf=kf=j8f g+= s}lkmot

1 £oflk|ª k|lzIf0f sfo{qmd 60000.00 uf=kf= j8f g+= !

2 u|fdsNo0f cf=lj=sDkfp08 lgdf{0f 300000.00 uf=kf= j8f g+= ! 

3
6' £oflk|ª Vnlwsf] zf}rfno / sDkfp08 lgdf{0f 300000.00 uf=kf= j8f g+= ! 

4 hgr]tgf d"ns tflnd, ;/;kmfO{ tyf kmf]xf]/d}nf 

Joj:yfkg
100000.00 uf=kf= j8f g+= ! 

5 :jfut u]6 lgdf{0f 300000.00 uf=kf= j8f g+= !

6 3gkf]v/f uf]6f] jf6f] -6f]n kl/;f/_ 150000.00 uf=kf= j8f g+= !

7 snfp j]zL vfg]kfgL cfof]hgf 250000.00 uf=kf= j8f g+= !

8 3gkf]v/f :jf:Yo rf}sL vfg]kfgL cfof]hgf 75000.00 uf=kf= j8f g+= !

9 u'?ª 7fF6L lgdf{0f 755000.00 uf=kf= j8f g+= !

10 gfnwf/f vfg]kfgL 100000.00 uf=kf= j8f g+= !

11 gfo'F – km|]hf] ;8s 250000.00 uf=kf= j8f g+= !

12 km|]hf] – ;]g] ;8s 550000.00 uf=kf= j8f g+= !

13 efr] – gfo'F ;8s 2000000.00 uf=kf= j8f g+= !

14 ljB'tLs/0f snfpj]FzL 75000.00 uf=kf= j8f g+= !

15 g]kfnL lqmi6Log rr{ gfo' dd{t tyf zf}rfno 

lgdf{0f
200000.00 uf=kf= j8f g+= !

16 k|m]hf] ;fd'bflos ejg lgdf{0f 250000.00 uf=kf= j8f g+= !

17 hghfu[tL cfdf;d"x ejg lgdf{0f gfo'F 250000.00 uf=kf= j8f g+= !

18 ;/:jtL cfdf;d"x ejg lgdf{0f ;]g] 100000.00 uf=kf= j8f g+= !

19 sfkmn 8fF8f s'nf] 85000.00 uf=kf= j8f g+= !

20 ;Da 5\ofPlnª u'Djf lgdf{0f 50000.00 uf=kf= j8f g+= !

hDdf 6200000.00

1 kmKnf] So" vfg] kfgL of]hgf efr] 400000.00 uf=kf= j8f g+= @

2 l3d|ª dfr{ ª];L vfg] kfgL cof]hgf 200000.00 uf=kf= j8f g+= @

3 k|f]jL cfdf ;d"x ejg dd{t 100000.00 uf=kf= j8f g+= @

4 k]d|f] sf]F vfg]]kfgL 5x/] 8fF8f 200000.00 uf=kf= j8f g+= @

5 v'bL l;DkfgL 3gkf]v/f df]6/ af6f] dd{t tyf :t/ 

pGgtL
2400000.00 uf=kf= j8f g+= @

6 /f]Kn] kmfF6 k}+o' vf]nf df]6/ af6f] 200000.00 uf=kf= j8f g+= @

7 lqe'jg df=lj= hfg] df]6/ af6f] lgdf{0f 400000.00 uf=kf= j8f g+= @

8 k|f]jL ljB'tLs/0f 1000000.00 uf=kf= j8f g+= @

9 ljBfHof]tL k|f=lj= 3]/faf/ 200000.00 uf=kf= j8f g+= @

10 k}+o' vf]nf l;+rfO cfof]hgf 800000.00 uf=kf= j8f g+= @

11 Vo"/L vf]nf l;+rfO efr] 300000.00 uf=kf= j8f g+= @

12 tp vf]nf l;+rfO cfof]hgf 200000.00 uf=kf= j8f g+= @

13 /f]Kn] s'nf] l;+rfO -tNnf]_ /f]Kn] kmfF6 400000.00 uf=kf= j8f g+= @

14 l3d|fª hfg] df]6/af6f] 250000.00 uf=kf= j8f g+= @

15 k}o'vf]nf 3f]K6] df]6/af6f] 700000.00 uf=kf= j8f g+= @

cfof]hgfx?sf] ljj/0f



16 efr]af6 dfrf{ hfg] uf/]6f] af6f] 200000.00 uf=kf= j8f g+= @

17 sfkmn 8fF8f ljB'lts/0f 50000.00 uf=kf= j8f g+= @

18 rr{ ejg lgdf{0f 3gkf]v/f 100000.00 uf=kf= j8f g+= @

19 k|f]lj uf]/]6f] af6f] 100000.00 uf=kf= j8f g+= @

hDdf 8200000.00

1 v'bL a]gL afn pBfg lgdf{0f 800000.00 uf=kf= j8f g+= #

2 wg]Zj/ afn v]n d}bfg 100000.00 uf=kf= j8f g+= #

3 cd/ df=lj= ejg Knf:6/ 300000.00 uf=kf= j8f g+= #

4 lxdk||]dL afn k':tsfno 20000.00 uf=kf= j8f g+= #

5 dlxnf :jf:Yo ufpF3/ sfo{qmd 80000.00 uf=kf= j8f g+= #

6 ldnLh'nL cfdf ;d'x ejg lgdf{0f 300000.00 uf=kf= j8f g+= #

7 wg]Zj/ cfdf ;d''x ejg lgdf{0f 150000.00 uf=kf= j8f g+= #

8 lqj]0fL cfdf ;d'x /]lnª tyf vfg]kfgL 200000.00 uf=kf= j8f g+= #

9 ckfË tyf a[4f ;Ddfg 100000.00 uf=kf= j8f g+= #

10 w}/]gL v]n d}bfg lgdf{0f 1000000.00 uf=kf= j8f g+= #

11 v]n d}bfg lgdf{0f a'4ahf/ 150000.00 uf=kf= j8f g+= #

12 ;fd'bflos :jf:Yo OsfO{ ejg lgdf{0f lzp?ª 400000.00 uf=kf= j8f g+= #

13 cv{n] vfg]kfgL vfg]kfgL dd{t 250000.00 uf=kf= j8f g+= #

14 5la;] ;fd'bflos ejg lgdf{0f 500000.00 uf=kf= j8f g+= #

15 rf}t/L blnt ;fd'bflos ejg lgdf{0f 6f]a' 250000.00 uf=kf= j8f g+= #

16 6f/Ls'gf b]lv d:of{ªbL 3f6 ;Dd uf]/]6f] af6f] 150000.00 uf=kf= j8f g+= #

17 sf]6sfnLsf dlGb/ lgdf{0f t/fk'8f8fyf]s 100000.00 uf=kf= j8f g+= #

18
s[ifs Ifdtf ljsf; tflnd tyf :j/f]huf/ sfo{qmd 150000.00 uf=kf= j8f g+= #

19 ;fd'bflos ljsf; sf]if ;dk'/s 50000.00 uf=kf= j8f g+= #

20 v'bL lzp?ª df]6/ af6f] :t/pGglt 3000000.00 uf=kf= j8f g+= #

21 yfsg df]6/ af6f] lgdf{0f 1400000.00 uf=kf= j8f g+= #

22 tNdf]8fF8f 3f]l;ª xl;{ª df]6/ af6f] lgdf{0f 450000.00 uf=kf= j8f g+= #

23 lhDbf] ljw'lts/0f 1000000.00 uf=kf= j8f g+= #

24 6f]k' k'/fg]fufpF lhDbf] df]6/af6f] 700000.00 uf=kf= j8f g+= #

25 lzp?ª Ps 3/ Ps wf/f vfg]kfgL of]hgf 300000.00 uf=kf= j8f g+= #

26 dxf]T;j, wfdL{s d]nf / ;'sdfg :d[lt 100000.00 uf=kf= j8f g+= #

27 k''/fgf]] ufpF vfg]kfgL 50000.00 uf=kf= j8f g+= #

28 v'bL ahf/ af6f] lgdf{0f 100000.00 uf=kf= j8f g+= #

29 9u} b]lv l;p?ªhfg] df]6/af6f] hf]8\g] 100000.00 uf=kf= j8f g+= #

30 hlNsg], 5la;], hd6], b]lj:yfg uf]=af= 150000.00 uf=kf= j8f g+= #

31 k;vf]]nf l;Dn]kmfF6 l;rfO{ 100000.00 uf=kf= j8f g+= #

32 k|x/L rf{}sL ljB'lts/0f tyf k|ltIffno lgdf{0f 150000.00 uf=kf= j8f g+= #

33 5x/]vf]nf t/fk' l;rfO{ 100000.00 uf=kf= j8f g+= #

34 lhDbf] uf]/]6f] af6f] 50000.00 uf=kf= j8f g+= #

35 v'bL vf]nf t8aGb, w}/}g klx/f] lgoGq0f 300000.00 uf=kf= j8f g+= #

36 a'4ahf/ vfg]kfgL 100000.00 uf=kf= j8f g+= #



37 la/ elQm yfkf kfs{ lgdf{0f 500000.00 uf=kf= j8f g+= #

38 xfFuf] l;+rfO dd{t 100000.00 uf=kf= j8f g+= #

39 cn}+lr e§L lhDbf] 90000.00 uf=kf= j8f g+= #

40 v'bL u'Daf efG5f sf]7f 250000.00 uf=kf= j8f g+= #

41 k|x/L lj6 v'bL 100000.00 uf=kf= j8f g+= #

42 k''/fgf]] ufpF ;fd'bflos ejg 150000.00 j8f g+= #

hDdf 14390000.00

1 hgr]tgf cfdf ;d"x lgdf{0f ;fljs ^ / & 400000.00 uf=kf= j8f g+= $

2 :ofFu] cfdf ;d"x ejg lgdf{0f 300000.00 uf=kf= j8f g+= $

3 hut jhf/ cfdf ;d"x d}bfg lgdf{0f 300000.00 uf=kf= j8f g+= $

4 /fd jhf/ cfdf ;d"x ejg dd{t 100000.00 uf=kf= j8f g+= $

5 gofFufpF cfdf ;d"x -sGob]jL_ lgdf{0f 300000.00 uf=kf= j8f g+= $

6 nfnLu'/fF; cfdf ;d"x ejg lgdf{0f 400000.00 uf=kf= j8f g+= $

7 ;r]tgf cfdf ;d"x ejg zf}rfno lgdf{0f 100000.00 uf=kf= j8f g+= $

8 hg;]jf cfdf ;d"x ejg lgdf{0f ;fljs @ 400000.00 uf=kf= j8f g+= $

9 lemt] hut uf]/]6f] jf6f] lgdf{0f ;fljs ! 500000.00 uf=kf= j8f g+= $

10 3f]K6] df]6/ af6f] lgdf{0f 300000.00 uf=kf= j8f g+= $

11 /fd jhf/ 5fkf df]6/ af6f] dd{t 200000.00 uf=kf= j8f g+= $

12 gf:s' r] k'/fgf] hut RofDr] df]6/ af6f] 1000000.00 uf=kf= j8f g+= $

13
/fdahf/ 5fkf cf7v]t l;n9'ª\uf df]6/af6f] lgdf{0f 2000000.00 uf=kf= j8f g+= $

14 j8f sfof{nonfO{ ;fp08 l;:6d vl/b 100000.00 uf=kf= j8f g+= $

15 blnt ;d'bfo ejg lgdf{0f gofFufpF 350000.00 uf=kf= j8f g+= $

16 Nxf];f/ sfo{qmd 100000.00 uf=kf= j8f g+= $

17 >Lrf}/ Ps 3/ Ps wf/f 150000.00 uf=kf= j8f g+= $

18 tfl3|ª * aNv', l;;L, 3f]K6] Ps 3/ Ps wf/f 400000.00 uf=kf= j8f g+= $

19
tfl3|ª ( 8f8fufpF sfnfl3/Lª Ps 3/ Ps wf/f 500000.00 uf=kf= j8f g+= $

20 tfl3|ª % cf7v]t Ps 3/ Ps wf/f 200000.00 uf=kf= j8f g+= $

21 sflnsf dlGb/ u]6 lgdf{0f 150000.00 uf=kf= j8f g+= $

22 /fdjhf/ sfk|] Ps 3/ Ps wf/f 250000.00 uf=kf= j8f g+= $

23 aNv' ljB'lts/0f 100000.00 uf=kf= j8f g+= $

24 lxdfnL cfdf ;d"x kvf{ lgdf{0f k'/fgf] hut 100000.00 uf=kf= j8f g+= $

25 hut Ps 3/ Ps wf/f of]hgf 300000.00 uf=kf= j8f g+= $

26 :jf:Yo rf}sL ejg dd{t 100000.00 uf=kf= j8f g+= $

27 ldk|f uf];{n 8fF8f ;fd'bflos ejg 200000.00 uf=kf= j8f g+= $

28 ;fd'bflos ejg 5fkf8fF8f 150000.00 uf=kf= j8f g+= $

29 lxdfnL cfdf ;d"x k'/fgf] hut kmlg{r/ tyf h:tf 

kftf ;xof]u
50000.00 uf=kf= j8f g+= $

hDdf 9500000.00

1
vfgL ufpF ;fd'lxs nf]sn s'v'/f kmd{ ;~rfng 200000.00 uf=kf= j8f g+= %

2 esf/f] ;'wf/ sfo{qmd 300000.00 uf=kf= j8f g+= %



3 u+ufldng df=lj=ejg lgdf{0f tyf dd{t 300000.00 uf=kf= j8f g+= %

4 5 j6f k|f=lj=nfO{ lk|G6/ tyf kmf]6f]skL 500000.00 uf=kf= j8f g+= %

5
kmf]xf]/d}nf tyf 9n lgsf; Joj:yfkg ;~hfk' 500000.00 uf=kf= j8f g+= %

6
kmf]xf]/d}nf tyf 9n lgsf; Joj:yfkg j8nlj;f}gf 100000.00 uf=kf= j8f g+= %

7 kmf]xf]/d}nf tyf 9n lgsf; Joj:yfkg lgp/L 100000.00 uf=kf= j8f g+= %

8 kmf]xf]/d}nf tyf 9n lgsf; Joj:yfkg 

lnlnvf]l/ofv]t
100000.00 uf=kf= j8f g+= %

9 sf]Ojf] u'Djf3/ lgdf{0f ;~hfk' 300000.00 uf=kf= j8f g+= %

10 ;fË] 5\ofPlnª u'Daf zf}rfno lgdf{0f 100000.00 uf=kf= j8f g+= %

11 Do'lhod lgdf{0f 3]d'{ 200000.00 uf=kf= j8f g+= %

12 blnt nlIft afv|fkfng tyf cn}FrLv]tL 200000.00 uf=kf= j8f g+= %

13 dlxnf nlIft df}/L kfng 100000.00 uf=kf= j8f g+= %

14 :jf:Yo rf}sLdf ;fdfu|L vl/b 100000.00 uf=kf= j8f g+= %

15 3]d{'kmfF6 :ofFu] :jf:Yorf}sL uf]/]6f] af6f] 100000.00 uf=kf= j8f g+= %

16 vf]l/ofv]t lr;fkfgL r'r]9'Ë uf]/]6f] af6f] 300000.00 uf=kf= j8f g+= %

17 >Lrf}/ tNnf] lrKnf df]6/af6f] 700000.00 uf=kf= j8f g+= %

18 l5r'ufpF uf]/]6f] af6f] lgdf{0f 300000.00 uf=kf= j8f g+= %

19 rfd]vf]nf k'n lgdf{0f 100000.00 uf=kf= j8f g+= %

20 3]d'{ vfg]kfgL dd{t 100000.00 uf=kf= j8f g+= %

21 Sjfk|f] So' l;+rfO{ tNnf] lrKnf 200000.00 uf=kf= j8f g+= %

22 vf]l/ofv]t l;+rfO{ 300000.00 uf=kf= j8f g+= %

23 d'rf{vf]nf l;+rfO{ 300000.00 uf=kf= j8f g+= %

24 km"njf/L dlxnf ;d"x ejg lgdf{0f 500000.00 uf=kf= j8f g+= %

25 lgp/L ;fd'bflos ejg lgdf{0f 400000.00 uf=kf= j8f g+= %

26 ;Ghfk' ;fd'bflos ejg lgdf{0f 350000.00 uf=kf= j8f g+= %

27 lnln ;fd'bflos ejg lsrg lgdf{0f 100000.00 uf=kf= j8f g+= %

28 pkNnf] lrKnf v]nd}bfg 100000.00 uf=kf= j8f g+= %

29 3]d{' o'jf Sna v]ns'b ;~rfng 100000.00 uf=kf= j8f g+= %

30 dlxnf ;+hfn 100000.00 uf=kf= j8f g+= %

31 ;|f]t s]Gb| ;fdfu|L vl/b 50000.00 uf=kf= j8f g+= %

32 3]d{' ;8s 1050000.00 uf=kf= j8f g+= %

33 tftf]kfgL s'08 sNr] 100000.00 uf=kf= j8f g+= %

34 l5r' 9n lgsf; of]hgf 100000.00 uf=kf= j8f g+= %

35 5fª] le/ af6f] /]lnª 200000.00 uf=kf= j8f g+= %

36 3]d'{ :jf:Yo rf}sL 5fgf dd{t 100000.00 uf=kf= j8f g+= %

37 a8f/ la;f}gf ;fd'bflos ejg efG5f sf]7f 100000.00 uf=kf= j8f g+= %

38 cn}+lr e§L a8f/ la;f}gf 90000.00 uf=kf= j8f g+= %

hDdf 8940000.00

1 bf}efgrf}/ vfg]kfgL 150000.00 uf=kf= j8f g+= ^

2 hghflt Ps 3/ Ps wf/f lbªlbª–afx'g8f8f 200000.00 uf=kf= j8f g+= ^

3 blnt Ps 3/ Ps wf/f lbªlbª–afx'g8f8f 200000.00 uf=kf= j8f g+= ^



4 8x/] vfg]kfgL of]hgf 300000.00 uf=kf= j8f g+= ^

5 gfOr] cfGtl/s uf]/]]6f] af6f] 100000.00 uf=kf= j8f g+= ^

6 ;fd'bflos ejg lgdf{0f km}h/f 400000.00 uf=kf= j8f g+= ^

7 ;fd'bflos ejg lgdf{0f d}b'Ë 300000.00 uf=kf= j8f g+= ^

8 gfOr] cfdf ;d"x ejg lgdf{0f 600000.00 uf=kf= j8f g+= ^

9 lbªlbª le/k':t'g df]6/af6f] cfof]hgf 1300000.00 uf=kf= j8f g+= ^

10 sfn9'Ëf afx'g8f8f 3]d{ df]6/ af6f] 700000.00 uf=kf= j8f g+= ^

11 lbªlbª tftf]kfgL af6f] 400000.00 uf=kf= j8f g+= ^

12 rgf}6] b]lv ufpF;Dd cfGtl/s uf]/]6f]af6f] 300000.00 uf=kf= j8f g+= ^

13 afx'g8f8f b]lj:yfg uf]/]6f]af6f] lgdf{0f 400000.00 uf=kf= j8f g+= ^

14
afx'g8f8f ;fd'bflos ejg dd{t Pj+ ljB'lts/0f 200000.00 uf=kf= j8f g+= ^

15 tNnf] bfDkfgL vf]nf sflnsf cfdf ;d"x ejg;Dd 

df]6/af6f]
500000.00 uf=kf= j8f g+= ^

16 ;fpg]kfgL wf}/Laf6f] x'Fb} sfO6f/f;Dd df]6/af6f] 

lgdf{0f
600000.00 uf=kf= j8f g+= ^

17 nfDkf6f ;fd'bflos ejg lgdf{0f 250000.00 uf=kf= j8f g+= ^

18 l;tnf ;fd'bflos ejg zf}rfno eG5f 3/ ljh'nL 

9nfg Pj+ ejg Knfi6/
400000.00 uf=kf= j8f g+= ^

19 d}bfg x'Fb} Wjfvf]nf df]6/af6f] dd{t 300000.00 uf=kf= j8f g+= ^

20 rGb|f]bo df=lj= sDKo'6/ 300000.00 uf=kf= j8f g+= ^

21 h6]Zj/ lg=df=lj= v]nd}bfg 300000.00 uf=kf= j8f g+= ^

22 7"nLj];L÷gfgf 8f8f ljB'tLs/0f 100000.00 uf=kf= j8f g+= ^

23
WjfFvf]nf nf};LkfgL bf]efg b]lv lkkn 8fF8f l;+rfO{ 300000.00 uf=kf= j8f g+= ^

24 8x/] ufpF ldn ;fdu|L vl/b ;xof]u 50000.00 uf=kf= j8f g+= ^

25 j8f sfof{no 3]/fjf/ 200000.00 uf=kf= j8f g+= ^

26 cn}rL el§ gfOr] 90000.00 uf=kf= j8f g+= ^

27 cn}rL el§ le/k':t'g 90000.00 uf=kf= j8f g+= ^

28 cn}rL el§ km}b/f 90000.00 uf=kf= j8f g+= ^

29 u}/L v]t l;+rfO{ 50000.00 uf=kf= j8f g+= ^

hDdf 9170000.00

1 ;fd'bflos ejg lgdf{0f l5gvf]nf 600000.00 uf=kf= j8f g+= &

2 df]6/af6f] :t/f]GgtL l5gvf]nf 300000.00 uf=kf= j8f g+= &

3 v]nd}bfg :t/f]GgtL l5gvf]nf 250000.00 uf=kf= j8f g+= &

4 vfg]kfgL of]hgf n'bL 100000.00 uf=kf= j8f g+= &

5 b]jL:yfg dlGb/ lgdf{0f n'bL 50000.00 uf=kf= j8f g+= &

6 ;fd'bflos ejg lgdf{0f tf/rf]s 250000.00 uf=kf= j8f g+= &

7 z]/f tf/frf]s n'bL df]6/af6f] :t/f]GgtL 650000.00 uf=kf= j8f g+= &

8 rr{3/ eG5f 3/ lgdf{0f tf/frf]s 150000.00 uf=kf= j8f g+= &

9 v]nd}bfg :t/f]GgtL tf/frf]s 100000.00 uf=kf= j8f g+= &

10 ;fd'bflos ejg ;+/If0f z]/f 100000.00 uf=kf= j8f g+= &

11 uf]/]6f] af6f] ;lxt 9n lgsf; z]/f 50000.00 uf=kf= j8f g+= &



12 df]6/af6f] :t/f]GgtL gfofFufpF 800000.00 uf=kf= j8f g+= &

13 ;KtsGof k|f=lj= / t/f~r] hfg] af6f vfg]kfgL 100000.00 uf=kf= j8f g+= &

14 v]n d}bfg :t/f]GgtL gofFufpF 250000.00 uf=kf= j8f g+= &

15 ;fd'bflos ejg lgdf{0f p:tf 600000.00 uf=kf= j8f g+= &

16 df]6/af6f] :t/f]GgtL p:tf 550000.00 uf=kf= j8f g+= &

17 vfg]kfgL dd{t p:tf 250000.00 uf=kf= j8f g+= &

18 Ps 3/ Ps wf/f vfg]kfgL of]hgf tfª\nLrf]s 400000.00 uf=kf= j8f g+= &

19 ªfbL ahf/ vfg]kfgL of]hgf dd{t 150000.00 uf=kf= j8f g+= &

20 8f=xs{ :d[tLaf6 dx]Gb|b]j :s'n / :jf:Yo rf}sL af6 

:s'n df]6/af6f] :t/ pGgtL

100000.00 uf=kf= j8f g+= &

21 ;f7Ls'nf] dd{t t/f~r] 150000.00 uf=kf= j8f g+= &

22 3§] vf]nf t/f~r] uf]/]6f] af6f] dd{t 100000.00 uf=kf= j8f g+= &

23 l;?jf/L l;+rfO{ dd{t 50000.00 uf=kf= j8f g+= &

24 afn'jf t/f~r] df]6/af6f] :t/f]GgtL 100000.00 uf=kf= j8f g+= &

25 afn'jf vfg]kfgL dd{t 100000.00 uf=kf= j8f g+= &

26 dx]Gb|b]j TLC ejg 9ng / vfg]kfgL zf}rfno 

dd{t
350000.00 uf=kf= j8f g+= &

27 :jf:Yorf}sL k|ltIffno / k|;'tL zf}rfno lgdf{0f 

ªfbL
150000.00 uf=kf= j8f g+= &

28 j8f g+= & leqsf sIff !÷% sf] ljBfyL{ / :s'ndf 

lkmN6/ / l6lkmg jS; ljt/0f
100000.00 uf=kf= j8f g+= &

29 gf=;=s]=s'v'/f kfng sfo{qmd tf/rf]s 50000.00 uf=kf= j8f g+= &

30 l;:g]/L afn'jf l;+rfO{ of]hgf 500000.00 uf=kf= j8f g+= &

31 t/f~r] dlGb/ 3]/fjf/ 150000.00 uf=kf= j8f g+= &

32 rr{ ejg lgdf{0f ªfbL 200000.00 uf=kf= j8f g+= &

33 tfªnLrf]s klx/f] lgoGq0f 200000.00 uf=kf= j8f g+= &

34 bf]efgrf}/ vfg]kfgL of]hgf 100000.00 uf=kf= j8f g+= &

35 z]/f l;+rfO{ s'nf] dd{t 50000.00 uf=kf= j8f g+= &

hDdf 8150000.00

1 l/ª6\ª df]6/af6f] 6«ofs cf]kg 1500000.00 uf=kf= j8f g+= *

2 gGb]:j/f Hod]/] df]6/af6f] lgdf{0f 300000.00 uf=kf= j8f g+= *

3 kj/x;fp aGb]| df]6/af6f] dd{t 400000.00 uf=kf= j8f g+= *

4 j8f g+= * sf] df]6/ af6f] :t/f]GgtL 1250000.00 uf=kf= j8f g+= *

5 UofjLg hfnL 7f8f] vf]nf e"ne"n] 100000.00 uf=kf= j8f g+= *

6 s'jf kfgL vfg]kfgL dd{t 150000.00 uf=kf= j8f g+= *

7 e"ne'n] dxf:jf/f vfg]kfgL 250000.00 uf=kf= j8f g+= *

8 l/Grf}/ s'nf] l;~rfO{ cfof]]hgf 100000.00 uf=kf= j8f g+= *

9 aGb]| l;+rfO of]hgf 150000.00 uf=kf= j8f g+= *

10 xfQL?v vf]x/L l;+rfO of]hgf 150000.00 uf=kf= j8f g+= *

11 nfDk6f l;+rfO of]hgf 100000.00 uf=kf= j8f g+= *

12 cDaf]6] nfDk6f l;+rfO of]hgf 100000.00 uf=kf= j8f g+= *

13 sfdL 8fF8f ux'Fjf/L l;+rfO of]hgf 100000.00 uf=kf= j8f g+= *

14 3tL{rf}/ ux'Faf/L l;+rfO of]hgf 50000.00 uf=kf= j8f g+= *



15 :ofn]s'g l;+rfO of]hgf 100000.00 uf=kf= j8f g+= *

16 hghflt ;fd'bflos ejg e"ne"n] ahf/ 800000.00 uf=kf= j8f g+= *

17 b]jL:yfg ;f'bflos ejg 5fgf] Pj+ dd{t 200000.00 uf=kf= j8f g+= *

18 cfDaf]6] ;fd'bflos efG5f 3/ lgdf{0f 150000.00 uf=kf= j8f g+= *

19 aGb|] ;fd'bflos ejg efG5 3/ lgdf{0f 150000.00 uf=kf= j8f g+= *

20 j+u]/L ;fd'bflos ejg dd{t 150000.00 uf=kf= j8f g+= *

21 zfGtL cfdf ;d"x ejg lgdf{0f j8fufpF 150000.00 uf=kf= j8f g+= *

22 s'jf kfgL cfdf ;d"x ejg dd{t 150000.00 uf=kf= j8f g+= *

23 xfQL?v cfdf ;d"x ejg efG5f 3/ lgdf{0f 100000.00 uf=kf= j8f g+= *

24 nfnL u'/fF; l;sfO{ s]Gb| 100000.00 uf=kf= j8f g+= *

25 k|eftzflGtk"0f{ df=lj= TLC 9ng 200000.00 uf=kf= j8f g+= *

26 wd{eQm cfwf/e"t ljBfno k|f]h]S6/ Pj+ vfg]kfgL 

of]hgf
100000.00 uf=kf= j8f g+= *

27 tfdfª ;+u|xno e':d] 700000.00 uf=kf= j8f g+= *

28 l/G6fª ;fd'bflos ejg 100000.00 uf=kf= j8f g+= *

29 gGb]:j/f vfg]kfgL dd{t of]hgf 30000.00 uf=kf= j8f g+= *

30 l;dnrf}/ e':d] df]6/ af6f] klx/f] lgoGq0f 200000.00 uf=kf= j8f g+= *

hDdf 8080000.00

1 l;h{glzn cfdf ;d'x ejg lgdf{0f 225000.00 uf=kf= j8f g+= (

2 cfdf ;d'x ejg kmlg{r/ vl/b ;j} al:t 100000.00 uf=kf= j8f g+= (

3 a'l6s tflnd 150000.00 uf=kf= j8f g+= (

4 /fwfs[i0f cfdf ;d'x ejg lgdf{0f 400000.00 uf=kf= j8f g+= (

5 sNs]Zj/L dlGb/ / ;]Un] cfdf ;d'x dd{t 100000.00 uf=kf= j8f g+= (

6 l;4dfO{ cfdf ;d'x ejg lgdf{0f zf}rfno lgdf{0f 

;d]t
400000.00 uf=kf= j8f g+= (

7 afn ;~hfn 50000.00 uf=kf= j8f g+= (

8 ;a} ljBfno nfO{ lkmN6/ vl/b 150000.00 uf=kf= j8f g+= (

9 cfwf/e"t ljBfno z}lIfs ;fdfu|L vl/b 200000.00 uf=kf= j8f g+= (

10 v]n d}bfg lgdf{0f ;fljs j8f #,$,*,( 200000.00 uf=kf= j8f g+= (

11 u0f]z df=la= 5fqfaf; lgdf{0f 300000.00 uf=kf= j8f g+= (

12 nIdL k|f=la= sDkfp08 lgdf{0f 100000.00 uf=kf= j8f g+= (

13 ;/:jlt ;bg cfwf/e"t laBfno g]6 h8fg 150000.00 uf=kf= j8f g+= (

14 blnt pTyfg sfo{qmd 100000.00 uf=kf= j8f g+= (

15 kfdrf]s gfufl/s ;r]tgf s]Gb| zf}rfno 35000.00 uf=kf= j8f g+= (

16 enfdrf}/ u'Djf lgdf{0f 400000.00 uf=kf= j8f g+= (

17 cfkfªuf d'8f a'Gg] tflnd 100000.00 uf=kf= j8f g+= (

18 h]i7f gfufl/s ;xfot ;fdfu|L vl/b 100000.00 uf=kf= j8f g+= (

19 cn}rL v]lt 100000.00 uf=kf= j8f g+= (

20
;fd'bflos :jf:Yo O{sfO{ ejg lgdf{0f nfdfufpF 500000.00 uf=kf= j8f g+= (

21 l;DkfgL ldr]{ vfg]kfgL ;xof]u 200000.00 uf=kf= j8f g+= (

22 enfd vfg]kfgL lgdf{0f 150000.00 uf=kf= j8f g+= (

23 vfg]kfgL cfof]hgf dxyf]s tj} 300000.00 uf=kf= j8f g+= (



24 Ps 3/ Ps wf/f vfg]kfgL ;flas $,%,^ 400000.00 uf=kf= j8f g+= (

25 vfg]kfgL of]hgf au}rf 100000.00 uf=kf=

26 vfg]kfgL of]hgf ;'a]bL ufpF 200000.00 uf=kf= j8f g+= (

27 ;fF8f la3'tLs/0f 100000.00 uf=kf= j8f g+= (

28 uf}/L z+s/ dxfb]j dlGb/ dd{t 75000.00 uf=kf= j8f g+= (

29
kmfn]t]af6 ef/fd kfdrf]s al:t la3't la:tf/ 100000.00 uf=kf= j8f g+= (

30 s}hfn] vfg]kfgL dd{t 125000.00 uf=kf= j8f g+= (

31 lbJo Hof]lt o'jf Sna ejg dd{t 50000.00 uf=kf= j8f g+= (

32 ebf}/] s'jf vfg]kfgL dd{t kfdrf]s 50000.00 uf=kf= j8f g+= (

33 rl08:yfg rl08 dlGb/ lgdf{0f 60000.00 uf=kf= j8f g+= (

34 u}/fufpFb]lv d/fg3fF6 ;Ddf uf]/]6f] af6f] 50000.00 uf=kf= j8f g+= (

35 rl08:yfg ;fd'blos dlGb/ rkL{ lgdf{0f 100000.00 uf=kf= j8f g+= (

36 uf]lks'nf] lgdf{0f 150000.00 uf=kf= j8f g+= (

37 v'bL xfO{8«f] z]/fkmfF6 ;8s dd{t 250000.00 uf=kf= j8f g+= (

38 v'bL–nfdfufpF ;8s dd{t 250000.00 uf=kf= j8f g+= (

39 l;?af/L ;8s dd{t 75000.00 uf=kf= j8f g+= (

40 v'bL–l;DkfgL enfdrf}/ 3n]ufpF ;8s 700000.00 uf=kf= j8f g+= (

41 v'bL kfdrf]s enfdrf}/ ;8s 500000.00 uf=kf= j8f g+= (

42
kfdrf]s blnt al:t af6 :jf:Yo rf}sL uf/]6f] af6f 50000.00 uf=kf= j8f g+= (

43 7'n9'ªuf] df]6/af6 dd{t 50000.00 uf=kf= j8f g+= (

44 kfdrf]s tNnf] ufpFaf6 af;af]6] uf]/]6f af6f] 40000.00 uf=kf= j8f g+= (

45 ;]/f8fF8f uf]/]6f af6f] 150000.00 uf=kf= j8f g+= (

46 v'bL dxfyf]s cfdf ;d'x ejg ;Ddf  ;Ddfsf] 

uf/]6f af6f
100000.00 uf=kf= j8f g+= (

47 d/g3fF6 ;Ddf df]6/af6f] / 7fF6L 200000.00 uf=kf= j8f g+= (

48 c/f]0fbo k|f=la=enfd laBfno sDkfp08 150000.00 uf=kf= j8f g+= (

49 z]/fkmfF6 s'nf] dd{t 100000.00 uf=kf= j8f g+= (

50 sflnsf dlGb/ 3]/faf/ kfdrf]s 100000.00 uf=kf= j8f g+= (

51 v'bL au'jf /f]Kn]vf]nf df]6/af6f] cf/ l; l; k'n 

;d]t
300000.00 uf=kf= j8f g+= (

52 l;DkfgL rf/LkfgL le/ /]lnª 150000.00 uf=kf= j8f g+= (

53 /l~ht s'nf] dd{t 100000.00 uf=kf= j8f g+= (

54
kfdrf]s blnt al:t le/d'lgsf] le/ hfnL af/ 150000.00 uf=kf= j8f g+= (

55 ta}kmff6 6f/Ls'gf l;+rfO{ 150000.00 uf=kf= j8f g+= (

56 :jf:Yof rf}sL vfg]kfgL 50000.00 uf=kf= j8f g+= (

57 ;T;u ejg lgdf{0f 75000.00 uf=kf= j8f g+= (

58 uf]/]6f]af6f] lgdf{0f gofFufpF 50000.00 uf=kf= j8f g+= (

59 ;]Un] ef/fdsf] /]lnª 100000.00 uf=kf= j8f g+= (

60 hg rxfg k|f=la=dd{t 40000.00 uf=kf= j8f g+= (

61 c/0oHof]lt cfwf/e"t laBfno dd{t 100000.00 uf=kf= j8f g+= (



62 nfdfrf}/ vfg]kfgL 550000.00 uf=kf= j8f g+= (

63 enfdrf}/ vfg]kfgL 550000.00 uf=kf= j8f g+= (

64 nK;Laf]6 vfg]kfgL of]hgf 100000.00 uf=kf= j8f g+= (

65 dlxdf rr{ ejg lgdf{0f 150000.00 uf=kf= j8f g+= (

hDdf 11400000.00

1 cTofjZos cf}ifwL vl/b 500000.00 uf=kf=

2 l6r km/ g]kfn ;Fusf] ;fem]bf/L sfo{qmd 500000.00 uf=kf=

3 cGgk"0f{ ko{6sLo If]q a}sNkLs kbdfu{ 500000.00 uf=kf=

4 ufpFkflnsf sfof{no ejg hUuf vl/b 4000000.00 uf=kf=

5
# dlxg] o"jf nlIft tflnd -k|fljlws tyf 

Joj;foLs  _
900000.00 uf=kf=

6 s[lif zfvf tkm{sf] sfo{qmd 3969000.00 uf=kf=

7 kz';]jf zfvf tkm{sf] sfo{qmd 5205000.00 uf=kf=

8 ufpFkflnsf ejg tnf yk ug{ 2000000.00 uf=kf=

9 uf=kf= sfof{nodf zf}rfno lgdf{0f 500000.00 uf=kf=

10 dlxnf ljsf; zfvf tkm{sf] sfo{qmd 500000.00 uf=kf=

11 uf=kf= sfof{no ;Ddsf] df]6/af6f] 500000.00 uf=kf=

hDdf 19074000.00

s'n hDdf 103104000.00









  


